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1. Carbon burns in air according to the following equation:
C(S) + OZ{g) — COz(g) + energy
List four ways the rate of the above reaction could be increased. S f le. (1 marks)
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2. A strip of magnesium was cut into 4 pieces, each of length 1.0 cm and mass of 0.00864 g. Each
piece was placed into a test tube containing 5.0 mL of different concentrations of HCI. The time
required for each piece of magnesium to be completely consumed was recorded:
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a) Calculate the rate of reaction for magnesium in 3. 0 M HCL
b) How does the [HCI] affect the reaction rate?

(1 marks)
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3. Define the term heterogeneous reaction. — Y‘*’—C”‘“é’)f:‘”ﬁ‘ e tn S fRront (1 marks)
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4. Define and give an example of a homogeneous reaction. ~— ¥&*CA54 T Rare é marks)
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